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circle.m + = circle(l O)
1 function[p,s]=circle(r) =
2 ans =
= p=2*pi*r;
62.8319
3= s=pi*r'2;
6 >> [mohit masahat]=circle(10)
7 - end
8 mohit =
62.8319
masahat =
314.1593
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== [~,masahat]=circle(10)

magahat =

314.1593
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circle.mn + == circle
1 function[p,s]=circle(r) - Error using circle (line 3
2 if nargin<1 You must insert at least one input
3 - error("You must insert at least one input' )
4 - end == circle(10)
5- p=2*pi*r;
6 ans =
7= s=pi*r'2;
8 62.8319
9 - end
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p=varargin;
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= end

function p=product(varargin)

- == p=product(1,2,3,4)

p:

1 2] Bl [4]
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function p=product(varargin) =
- | p=varargin{1};

- n=numel(varargin);

- for i=1lm

p=p.*varargin{i};

- end
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end

>> p=product(1,2,3,4)
p=

24
p=

2.2099e+09
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